H. Geometry Unit T — Probability Notes
Name: Date:
Compound Probability: Mutually Exclusive vs. Overlapping

UNIT QUESTION: How do you use probability to make plans and predlc’r for the future?
(Standard; MM1D1-3)

Today's Question: When do | add or multiply when solving compound probabilities?
(Standard: MM1D2.9,b.)
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Mutually Exclusive

The probability that one or the other of several events will occcur
is found by summing fhe individual probabilities of the events:

P(A or B)=P(A)+P(B)

1. Find the probability that a girl's favorite department 7
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3. Whatis the probo'bili’ry' of picking a queen or an ace from a deck of cards?
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H. Geometry Unit 1 — Probability Notes

Qverlapping Events

Probability that non-mutually exclusive events
A and B or both will occur expressed as:
P(A or B)

P(A U B) = P(A} + P(B) - P[A n B}

. Find the probability that a person

will drink both. 5. Find the P{A v B).
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. Find the probability of picking a king or a club in a deck of cards.
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. When rolling 2 dice, what is the probability of
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